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A symbol equation shows the symbols and formulae for the reactants and products in a chemical reaction.

A balanced symbol equation has the same number of each type of atom on both sides of the arrow.

The steps in writing a balanced symbol equation are shown below.

	Step
	
	Example

	· Write the word equation for the reaction.
	
	magnesium

+

oxygen

→

magnesium oxide



	· Convert the names into the correct symbols and formulae for each substance, the symbol equation.
	
	Mg

+

O2
→

MgO



	· Count the number of atoms of each element on both sides of the equation.
	
	Mg = 1
O = 2

→

Mg = 1
O = 1



	· If the numbers do not match then you need to balance the equation.

· You cannot change the formulae to make an equation balance. Instead you need to use more of one or more of the substances.
· Put the numbers at the start of each formula to produce the balanced symbol equation.

· Recount the number of atoms of each element on both sides of the equation to check that it is now balanced.
	
	

2Mg
+

O2
→

2MgO
Mg = 2
O = 2
→
Mg = 2
O = 2



Use the steps shown above to convert the symbol equations shown below into balanced symbol equations.

1 Zn + O2 → ZnO
2 Sn + O2 → SnO2
3 Cu + O2 → CuO

4 Ge + F2 → GeF4
5 Ca + P → Ca3P2
6 Na + O2 → Na2O

7 Al + Br2 → AlBr3
8 Fe + O2 → Fe2O3
I can...

· model simple reactions using balanced symbol equations.




Step 2 2 × Mg to balance the 2Mg atoms











Step 1 2 × MgO to balance the 2O atoms on the other side
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